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Instructions:
EZHEAA:
EZEMA:

> For question numbers 1 to 10, each question had four choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.
E1E10E+ , SEENMEEE : (A), (B), (C)and (D) , BERE—1E
ERER , ZBTHRD.
E1E108F , FEEMNILM : (A), (B), (C)and (D) , BEAREF—1
EWER , ZETED,
> Question number 11 to 20 are of short answer type.
BE1ME20EHEETE,
B1ME20BHEEE,
> Each question carries 10 marks.
BEEME10D,
L5107,


mac


1)
What is the remainder when a* — b# is divided by a — b?
FafEat — b'ta - bR EAXN R E B ?
ERlat — b*ta - bFRI R R AL ?

(A)a-b
(B)a+b

(C) 0

(D) 1

2)

The probability of passing a test is y/24. If the probability of not passing is 7/8,
thenyis
BRRAENEERR y24, ETEBNEERLS7/8, Aly &

BENHABER y24, MRTEISHBRRN 7/8, Wy A

(A) 2
(B) 3



3)

The median of 11, 13, 15, 19, n+2, n+4, 30, 35, 39, 46 is 25. Find n.
11, 13, 15, 19, n+2, n+4, 30, 35, 39, 46 WU EHE 25, FHH n.
11, 13, 15, 19, n+2, n+4, 30, 35, 39, 46 PR 25, BEHKH n.

(A) 22
(B) 21
(C) 20
(D) 23

Which of the following equations of straight lines is parallel to the y-axis?
B AT — R EAR S TE Y-8 71T ?
BRILTR-—RELLESYy-HTIT?

(A)y=-2
(B)y=0
(C)y=3
(D) x =-7



5)
If the vertices of 2AABC are A(7, 9), B(3, -7) and C(-3, 3), then which type of

triangle is it?

E2ABCHIEEIR A(7,9),B(3,-7) X C(-3,3) , IEZ=AFRTEEEN=
A2

EH2ABCHTIR R A(7,9), B(3,-7) & C(-3, 3) , ILZ=AFXRTLHEN=

A2

(A) Right angled
BEA=AF
BEA=AF

(B) Equilateral
ZE=AF
EH=AK

(C) Isosceles
ZE=AK
ZE=AK

(D) Both (A) and (C)
EEE/=AK
EEE/=AK



6)
If tanx +cotx = 5, then the value of tan2x +cot2x is

WNER tanx +cotx = 5, Bl tan2x +cot2x is

W tanx +cotx = 5, Bl the value of tan2x +cot2x is

How many ways can 5 people be seated at a round table?
BEEZLEBELFETUEREASEREE —REENAEVE ?

FHEZOMAEATUEENATEE-KEASRNEMLE ?

(A) 96
(B) 48
(C) 120
(D) 24



8)
Find the point of intersection of the straight lines y=2x+3 and y=—x+4.
EREMIRER ) =2x+3 F )=—x+41 335,
BEREFRELy=2x+3 F y=—x+4H 3T =,

Solve the compound inequality 1 < 2x+3 < 7.
AERHUTHEESRERN 1<2x43<7,
FREATHEEREFR 1 1<2x+3<7,

(A) -1 < x<-2

(B) -1<x<2

(C) 1< x<-2
(D) 1< x<2



11)
In 20PQ, right-angled at P, OP =7 cm and OQ - PQ = 1 cm, what is the value

of sinQ?

F2OPQ, HHPREATEH ,OP =7 #X M1 OQ-PQ=1#X , FFM@sinQ
HYBERATE ?

F2OPQ, HFPREANA ,OP =7 X 1 OQ-PQ =1 #X , #EsinQ

HBERTA?



12)

In how many ways can a committee of 4 be chosen from 6 men and 4

women if the committee must have at least one woman?

E—HZEGELE—BrL  BRAEZLEAEUURABELIREUEL
THEH-—MAZES?

BT ERRELPAE-—RBLLE , BRASIHEEAUMNARBRELRERL

tehiH—MAZRS ?

13)

A company produces two types of widgets, A and B. The unit production
cost of widget A is $20 and that of widget B is $30. The company has spent
$2100 on producing 100 widgets in total. How many of each type of widget

has the company produced respectively?

—BRREEMKRFTHFANB, EAFHFANMFHBREMKA D B R$20H
$30, ZNAELES2100, HEET100EEH, FRAZRLADNEET ZD
EHAMEHB?



—RAFAEFHREHANB. SHAFHFAMMEAFBH RS F RS20

$30, ZNAEEFES2100 , HEFT100MEH, BEZATADNEFTSILE

HAMEZHB ?

14)

A school is organizing a field trip. The bus can hold a maximum of 50 student
s. Each student ticket costs $15, and the school has a budget of $600 for

tickets. Find the maximum number of students that can go on the trip.

—HEREEB-NHETED , YFEE Bt IBIRBTNRS508E
£, SRBEMRESS, MERABIC00EEBEREMR. FHRETSHE

AHBEBRFHNELEHBNEKE,

—WEREARA—AHETED  HESH-—B+, ZOHERABS508 S

£, BRFENEESS, MERABSOOMEMIFLENR, BRETSE

ALRZFIEINFERBNEKE,



15)

Arrange the following in ascending order:
EUTEFHNEI KB,

LT BF i/ KBS,

16)

A box of 30 bulbs contains 20% defective bulbs. A bulb is drawn at random
from the box. It is found to be not defective and it is not put back. Now, one
bulb is drawn at random from the rest. What is the probability that this bulb

is not defective?

—FE30ER AT H20%2EMN, ERTRERME —ERE , YBRREFEA
TREMN, AR, EERARIBFEHER T, RE , EETHRTHEELZES
W —1E. FREEELTRENNRREMAE"?

—FE30NMT AR B20% R, ERFEHNME —NMTE , FRAXMTE

TRAN, RF , IMIAXBEEBERF, UE , ERPRTHTEZES

=1 BRXMIETR2ANNBEREFL?



17)

The mean of 40 numbers was found to be 38. Later on, it was noticed that a

number 56 was misread as 36. Find the correct mean of given numbers.

A0EB A FIIER38, BK , BEARE —RRES6H BMEHRFIERI6,

®
B0 EBEE N T ERAE 2
WM TAERIS, R , BAKA—RRESCH BB R BRI,

[FIABAO N EIERY FHERT A ?

18)

The value of sin50° — sin70° + sin10° is
sin50°0 — sin70° + sin10° W EE 2 o

sin50°0 — sin70° + sin10° KA 2 o



19)
What is the length of the longest pole that can be put in a room of

dimensions 10mMmx 10 m x 5 m?

B -YRERE-—RTRIOK10KXKNERT |, FRABZESZER
Z2R?

B —XHRBE-RIRI0KX10K<KNERF , FRBIEREKRS

20)
A hemispherical bowl is made of steel of 0.25 cm thickness. The inner

radius of the bowl is 5 cm. Find the volume of steel used?

—¥IREMH MR R0.25KE, BIRAFEREEK, FFH P A #Y o

O]

—H MRV NI BR0.25HKE, BHIRNFE RO K, HHHATEANN

B4R

END OF PAPER



